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1 = goo E 95,000
T2 = goo E 34,750
T2 = oo E 34,750
T2 = goo E 34,750
T2 = goo E 34,750
T6 = goo E 18,300
T6 = goo E 18,300
T8 = goo E 13,333
T8 = goo E 13,333
T8 = goo E 13,333
T8 = goo E 13,333
T8 = goo E 13,333
T13 = goo E 9,567
T13 = goo E 9,567
T13 = goo E 9,567
T16 = ooboos: E 7,540
T16 = ooo E 7,540
T16 = ooo E 7,540
T16 = ooo E 7,540
T16 = ooo E 7,540
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T21 = ooo E 5,800
T29 = goo E 5,000
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